EARAROBREBRT —5 XN—ZXBISH—F

2024E5H15H (k) dO&sE1H

7ILFINS V555

B2 Y>R—fix

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 170 =

[AE%] 1%:750,000 27&5:263,000 M . 33%&:150,000 § ~ 43&:113,000 W . 5 7&:75,000 M

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S . FLE— :51. -7-2- . - RO%KE (BEE)
11111 O—REFTY P RY 5 Bl 1(5_1)1 7-7-2-2 | 39.0 2 (5&3) HE&BE;&
R:O—RAFO7 :N—LYvRY #HET7—L
N ~ £y 5 | SHEX 1:51.1 4-5-1-1 [39.1| — 1 471 |MTFEA (RZER)
2|81 TATI=Y 77 %o ) ) | Fr—2bevay
R:O—RAprO7 #B:I7IFa—)b SRS
<, = KIEEZIE :51. -8-3- . - RORE (BEE)
38|10l T RFaHSA B4 A 1(35/14)3 8-8-3-3 |39.2 4 21+260) o
RIS I/ INS—R BIUEITVR IH B
3 » 4 | ETE 1:52.0 6-6-6-5 [39.7| — 5 474 | REBERXR (BEE)
4 XAY3UILRE "4 S 3 @) | @ JPNEH
RiXAYIDR—F— B XAV 3IILUN ==e ]
— o BAMES :52. -1-5- . - RORE (BEE)
5 F——vIP—F B4 56_0f (1}_’5;70) 1-1-5-4 | 39.9 6 413)9 19‘?3&?
RE—FNO—- BE-ZVIFSR AE—RI7—L
5 Y KT E :52. -9-10- . - BHES (BEE)
6 L7 U—RU— SR R L R L
RidI=ILRYY S B:T—RI7Y EvIUy RI7—LA
. = — P NEFREE :52. -3-4- . - BEIB—A (BEE)
7 Jv=I—-ILITIILT ) 1(35/24)5 33 404 ’ (4:)71) I/‘_\'im‘v;;ﬁﬂ
R:ANTI—IN S:FUFcAU—F J=HUT7—L
TR s 7 | FPPE 1:52.8 10-10-9-7 |40.1| — | 10 | 471 |TTFX (BEE)
8 ye-F 54.0 a1/ (2) | BT
R:O—IVIUY B:EFZJ4— Hp &Hx
9 FIW—ITELVZR Ho8 | ERAAR 1:(533).5 1-11-11-10140.5 | — | 1 (5_157) %ggg (BER)
RiF4—=TFAVNT~ B:IvF2 F—— - I\ - T7—LBRR
s s o5 | [ 1:54.7 5-4-8-8 | 42.1| — 7 | 488 |BUB—AN (BEHE)
10/5|5 | A¥O—> 56.0 ®) (-5) |EELE
RiUFAVF4—R B:ISUTFE—R /=Y Tr—1I
S ~ 1)~ it 9 | EH—H 1:58.7 2-2-7-11 | 46.2| - 9 B34 | WDE— (BHE)
17l g |¥I3vFuryuy #53.0 (5445) 1) SISy T RRIA W)
R:7v=E5—L B:aVP—hkR—R Laete]
@ 1—F—&RIEL
13—7— 7,8,9,11,5,4,1,10,2,6,3
20—F— 7,8,9,5,11,4,1,10,2,6,3
30—7— 11,1,10,9,7,4,8,5,6,2,3
43—F— 11,1,10,7,4,9,6,5,2,3,8
0 ILRE
BB 1 400M4 JA R 1-11 310 e B 1-8 600 3EE 1-10-11 1,290
B B 1 1409 1-10 490M 5 & 1-11 820M 3EH 1-11-10 7,930M
1" 160 10-11 370 Ba 1-1 1,510
10 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




